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» Complete the following activities using the textbook or other appropriate learning resources.
In addition to kilogramme (kg) and gramme (g), the unit milligramme which is
smaller than the other two units is also used to measure a mass more precisely.

Unit 13 — Mass(1)

“Milligramme” is denoted by mg.
1 gramme is 1000 milligrammes. That is, 1 g = 1000 mg

Since 1 g = 1000mg,

J

r - - -
2g = 2 X 1000mg = 2000 mg Express 7.656 g in milligrammes
3g = 3 X 1000mg = 3000 mg 7.656 g = 7.656 x 1000 mg
= 7656 mg
- I - .
Express 2 g 650 mg in milligrammes Express 2758 mg in grammes
2758
29650mg = 2 x 1000mg + 650mg| | 2758 mg =555
= 2000 mg + 650mg =2.758¢g
S = 2650 mg N
[Express 2225 mg in grammes and milligrammes.y” Express 3 g 675 mg in grammes)
2225mg = 2000mg + 225mg 3g675mg = 3g + 675mg
2000 675
L = T0009 225mg =3 1000
d =3g+406759
\_ =3.675¢g
> Addition of masses
( Let us add the quantities in the milligrammes )
Method I column.
350 mg + 800 mg = 1150 mg
g mg 1150 mg = 1000 mg + 150 mg
15 350 =lg+ Omg
Let us write 150 mg in the milligrammes column.
+ 750 800
766 150 Let us carry the 1 g to the grammes column and add
the amounts in the grammes column.
1g+15g+750 g=766 g
L Let us write 766 g, in the grammes column. )
[ Method II )
Let us express each of the masses in grammes, and then simplify.
152 350 mg = 15350 g g
750 g 800 mg = 750.800 g n 15 .350
766.150 g =766 g + 150 mg 750 . 800
| 766 . 150 |




> Subtraction of masses

([ Method 1
g mg Since 750 mg cannot be subtracted from 250 mg, let us
500 250 carry 1 g, that 1s 1000 mg, from the 500 g in the grammes
100 750 column to the milligrammes column and add it to the
500 500 250 mg in the milligrammes column.
— Then, 1000 mg + 250 mg = 1250 mg.
1250 mg — 750 mg = 500 mg
Let us write the 500 mg in the milligrammes column.
Let us subtract 100 g from the 499 g remaining in the
grammes column.
Then, 499 g — 100 g =399 g

L Let us write the 399 ¢, in the srammes column.

Method IT

Let us express each of the masses in grammes, and then simplify.

500 g 250 mg =500.250 g 500 . 250
100 g 750 mg =100.750 g — 100 . 750

399 . 500

399.500 g =399 g 500 mg

§

» Complete all the exercises in the Exercise 13.1, 13.2 and 13.3



